Do Now:

DO NOW Graph y=2x—3
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5.1 Solving Systems of Equations Graphically 3 Types of Systems:
system of equations - 7 s more equations
given together 1. Consistent and independent system
solving a system of equations means: i one point of intersection
‘pindmj common Solutions 5 "_\5:;@:; (Kg y . 3
. consis an S
Procedure: 1. Graph bsth equations on the L—>Sarr?e line w]%e(jnmdcf'%reni\/ navvy:z
Seme coordingte plone. Answer: Tnfinte soludions
2.Iden‘\ﬁ{p Hhe coordinates $or any 3. Trnconsiskent system
Pont of intersection. L%qua\\el \ines
3. Check W beth eoDquiOns. Ansuer: No Solution
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Example: Solve by graphing

Y 2.2x4+y=8 Y
I y= —4x+5 1 —6x —3y =12 Ng
y=3x-9 . 7 2ay=8  ~bx-3y=I2 .
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m="=7 ST 2 i ‘ -3 2
b=5 b=—9 . % b=8 y:—%“'_% NEEEEEEEEE CN EEEE IR R
y=-2x~4 \
m=", .
b="9 .
This is o consistent and This s an&igizvxﬁkkﬁ
indegendent- system. JStem.
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